Module 11 — Clocked ADC with output stream —
Whole picture

SetUp:
Init CLK, TimerO_A3, ADC, UART
Loop:
Enable Interrupts, Low Power Mode (Standby)
1 Timer0O_AO0 ISR
Start ADC sample on ADC CH1
ADC ISR _
2 Create Output String of ADC Value
Start TX-1E
TX ISR
3 Get next char
End-Of-String?
No — RETI

Yes- Turn off TX-IE



Develop incrementally -
4 programs
Each one builds on the other
Start simple
Each one increases complexity

e RT_ADC1 - Print alphabet, 10 char/second
e RT_ADC2 — Output fixed string use TX Interrupt
e RT_ADC3 — Output strings with varying content — Sprintf
e RT_ADC4- Put whole thing together
TAO Interrupt — Start ADC
ADC Interrupt — Create output string and start Transmit
TX Interrupt — Output until End-of-String



RT_ADCI1 - Print alphabet, 10 chars/second

Putchar: _
poll until TX is empty then output char



RT ADC]_ 1 Stop watchdog timer
— 2 Configure GPIO Setup
;; :::: Working & Energia - H Watson 20180731 3 Disable the GPIO power'On default
28| /) SKeteh RTADCLAN0 eeeeeeeeeeennn, 4 Clock System Setup
26 ;#ii".chde 5 set BAUD rate
27 .
28 | 6 TimerO_A3 Setup
29 int putchar(int TxByte); // output char
30 void UARTSetup (wvoid); 7 G_O to Sleep _
21 . . _ 8 Timer AO ISR: print alphabet 10 /second
32 volatile unsigned char timerValue=0x41 ; // Upper ]
33 9 putchar: output single char
34
[*+35 int main(void)
36 G
37 WDTCTL = WDTPW | WDTHOLD; J// Stop watchdog timer
38
39 // Configure GPID Setup
40 // RED LED
41 P1DIR |= BITH; J/ Set P1.8 as output
42 P1OUT |= BITS; // P1.0 high
43
44
45 // Disable the GPIOD power-on default high-impedance mode to activate
46 // previously configured port settings
47 PM5CTLD &= ~LOCKLPMS;
48




49
508
51
52
53
54
35
36
a7
58
59
60
61
62
63
64
65
66
67
638
69
78
71
72
73
74
13
76

/f

Clock System Setup ACLK = 32786, MCLK = SMCLK = 1MHz

__bis_SR_register(scGe);
CSCTL3 |= SELREF__ REFOCLK;
CSCTLE = B;

CSCTL1 &= ~(DCORSEL_7);
CSCTLL |= DCORSEL_3;
C5CTL2 = FLLD_ 1 + 121;
__delay cycles(3);

__bic SR register(scGe);

while(CSCTL7 & (FLLUNLOCK® | FLLUNLOCKL));

CSCTL4 = SELMS__ DCOCLKDIV | SELA__ XT1CLK;
CSCTLS |= DIVML;

UARTSetupl(]); // set BAUD rate

// Timer@ A3 Setup ISR 18/second:
TABCCTLE |= CCIE;

TABEXD |= TAIDEX_3;

TABCCRE = 3125;

TABCTL = TASSEL_2 | MC_1 | ID_3;

// Go to sleeﬁ
__bis SR register(LPMO bits | GIE);

S/ disable FLL

J/ Set REFOCLK as FLL reference source
// clear DCO and MOD registers
// Clear DCO frequency select bits first

f/ Set DCOCLK =
f/ FLLD = 1, DCODIV = 4MHz

// enable FLL

/f Poll wuntil FLL 15 locked
Jf oset ACLK = XT1 = 32768Hz,

8MHz

DCOCLK as MCLK and SMCLK source

// SMCLK = MCLK = DCODIV/2 = 1MHz, by default

S/ SMCLE/8 = 125K

// TACCR® interrupt enabled
S SMCLE/8/74 = 31250 Hz
// 10 per second

UP mode



T7
78
79
2
g1
a2
83
84
85
86
a7
28
29
aa
a1
92
93
94

// Timer A® interrupt service routine

#pragma vector = TIMER®_ A8 VECTOR
__interrupt wvoid Timer_ A (void)

=R

PlOUT ~= BITO;
// print ASCII alphabet 10 ¢
if(timervalue==0x7B)

r/second

{
timervValue=0x41;
putchar(exen); //CR
putchar(8xea); //LF
1

putchar((int) timerValue++);

ASCII Table

Decimal Hex Char

64 40 @
65 41 A
66 42 B
67 43 C
44 D
&9 45 E
70 46 F
71 47 G
72 48 H
73 49 I
74 48 |
75 4B K
76 4C L
77 A0 M
78 4E N
79 4aF o
80 50 P
81 51 Q
82 52 R
5
-
T
v
w
Y
z
[
\
1

a9 59
80 S5A
g1 5B
92 sC
83 5D
94 5E
95 5F

96

97

98

99

100
101
102
103
104
105
106
107
108
109
110
111
112
113
114
115
116
117
118
119
120

1
122

123
124
125
126
127

60
61
62
63
64
65
66
67
68
69
6A
6B
6C
6D
6E
6F
70
71
72
73
74
75
76
77
78
79
7A
78
7C
7D
7E
7F

Decimal Hex Char

EH'_HN":Hit:"'“".ﬂ'ﬂﬂ:g_?\'h'_:lﬂ soAaAn oo

[DEL]



95

06

a7

o8

a9
lea
161
162
163
104
1685
166
187
les
1689
118
111
112
113
114

void UARTSetup (woid)
=R
// Configure UART pins
P1SEL® |= BIT4 | BITS;
// Configure UART
UCABCTLWO |= UCSWRST;
UCABCTLWO |= UCSSEL__ SMCLK;
UCABBRO = 104;
UCABMCTLW = B8x11lea; /f/
UCABCTLWE &= ~UCSWRST;
-}

int putchar(int TxByte)

{
while(! (UCABIFGEUCTXIFG) ) ;
UCABTXBUF = TxByte;
return 1;

// set 2-UART pin as second function

S/ reset UART

// use SMCLK input

S/ 1MHz SMCLE/9600 BAUD
J/ remainder of Baud Rate



RT_ADC2 - Print fixed string 10/second with TXISR

SetUp:
GPIO - Enable RED LED
Clock System — MCLK & SMCLK =1 MHz
Timer0 - CCRO set to 10/second
UART Setup — 9600 Baud, No Parity, 1 Stop Bit
Loop: Sleep - Interrupt Enable, Low Power Mode 0

TimerO_AO _Interrupt:
Toggle RED LED
UARTPutString — Send whole string to TX

UARTPuUtString:
TxPtr = String Location
Load first TX char and TXIE

USCI_AO _ISR:
IF(TxPtr points to EOS) Turn TXIE off
ELSE Output TX char and Increment TxPtr



28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50

= |

RT ADC2

| /7
/7

sketch RT _ADC2.1no

#include

void UARTPutString(const char*
void UARTSetup (void);

const char* TxPtr ;

int main({void)

=k

WDTCTL = WDTPW | WDTHOLD;

J// Configure GPID Setup
S/ RED LED

P1DIR |= BITO:

P1OUT |= BITO;

1 Stop watchdog timer

2 Configure GPIO Setup

3 Disable the GPIO power-on default
4 Clock System Setup

5 set BAUD rate

----------- 6 TimerO A3 Setup: 10/sec

7 Go to sleep

stretr); // begin output of g Timar AQ ISR Start string print

9 USCI_AO _ISR: If EQS, Turn off TXIE
else, output next char
10 Load Char & Set TXIE

J/ S5top watcndog tTimer

J/f Set P1.O as output
f// PL.0 high

// Disable the GPIO power-on default high-impedance mode to activate

// previously configured port settings
PM5CTLE &= ~LOCKLPMS;



al
52
53
54
35
56
57
38
a9
60
61
62
63
64
65
66
67
63
69
70
71
72
73
74
73
76
77
78

ff

Clock System Setup ACLK = 32786, MCLK = SMCLK = 1MHz

__bis SR _register(5CGB);
CSCTL3 |= SELREF__ REFOCLK;
CsCTLE = B;

CSCTL1 &= ~(DCORSEL_7);
CSCTLL |= DCORSEL_3;
C5CTL2 = FLLD_ 1 + 121;
__delay cycles(3);

__bic SR register(scGe);

J/ disable FLL

J/ Set REFOCLK as FLL reference source
// clear DCO and MOD registers
// Clear DCO frequency select bits first

J/f Set DCOCLK = 8MHz

ff FLLD = 1, DCODIV = 4MHz

// enable FLL

while(CSCTL7 & (FLLUNLOCK® | FLLUNLOCK1)): // Poll until FLL 1s locked

CSCTL4 = SELMS__ DCOCLKDIV | SELA__ XT1CLK;

CSCTLS |= DIVML;

UARTSetup();

// Timer@ A3 Setup ISR 18/second:

TABCCTLE |= CCIE;

TABEX® |= TAIDEX_3;

TABGCCRE = 3125;

TABCTL = TASSEL 2 | MC_1 | ID 3;

// Go to Standby

_ bis SR_register(LPM@_bits | GIE);

J/ set BAUD rate

|ff SMCLK = MCLK = DCODIV/2

// TACCRE® interrupt enabled
S SMCLE/8/4 = 31250 Hz
// 18 per second

J/ SMCLK/8 = 125K , UP mode

ff oset ACLK = XT1 = 32768Hz,

DCOCLK as MCLK and SMCLK source
1MHz, by default



79

80 // Timer AQ interrupt service routine

=21 #pragma vector = TIMERD_AD _VECTOR

82 __interrupt void Timer A (void)

83 {

24 FP1OUT ~= BITO;

85 // print ASCII 10 strings / second|

86 UARTPutString ("This is the test stringn"}; // begin output of string
87 }

88



89
2]
91
g2
93
94
95
96
g7
o8
g9
166
181
le2
183
104
185
106
187
le8
189
118
111
112
113
114
115
116
117
118

#pragma vector=USCI_AG VECTOR
__interrupt wvoid USCI_A8 ISR(void)
o
switch({UcaaIv)
=
case USCI_NONE: break;
case USCI_UART_UCRXIFG:
while(! (UCABIFG&UCTXIFG));
UCAGTXBUF = UCABRXBUF;
__no_operation();
break;
case USCI_UART UCTXIFG:
// load char value
// unsigned char testVal=*TxPtr++;

if (1 (*TxPtr)) // if zero, then stop
= { |

UCARIE &= ~UCTXIE; // turn off interrupt
- }

else
= {
UCABTXBUF = *TxPtr++ ;
- 1
break;
case USCI_UART UCSTTIFG: break;
case USCI_UART UCTXCPTIFG: break;
default: break;

Stop — End of String



10

118
119
128
121
122
123
124
125
126
127
128
129
138
131
132
133
134
135
136
137
138
139
148

void UARTSetup (void)

B21{

-}

// Configure UART pins
P1SEL® |= BIT4 | BITS; // set 2-UART pin as second function
// Configure UART
UCABCTLWO |= UCSWRST; ff reset UART
UCABCTLWE |= UCSSEL__ SMCLK; Ff use SMCLK input
UCABBRO = 104; 4 1MHz SMCLE /96668 BAUD
UCABMCTLW = 8x1lee; // // remainder of Baud Rate
UCABCTLWE &= ~UCSWRST; Start
//UCABIE |= UCRXIE; // Enable USCI_A® RX interrupt

void UARTPutString(const char* strptr) // begin output of string

i

// load TxBuf with first char then enable interrupt
TxPtr = strptr;
UCABTXBUF = *TxPtr++; //load first, assume at least one char in buffer
UCABIE |= UCTXIE; // interrupt when transmitted - ISR turns off when done



RT_ADC3 - Sprint create string Values 10/second
SetUp:
GPIO - Enable RED LED
Clock System — MCLK & SMCLK =1 MHz
Timer0 - CCRO set to 10/second
UART Setup — 9600 Baud, No Parity, 1 Stop Bit
Loop: Sleep - Interrupt Enable, Low Power Mode 0

TimerO_AOQ_Interrupt:
Toggle RED LED
Sprintf OutStr & Count value
UARTPutString — Send whole string to TX

UARTPuUtString:
TxPtr = String Location
Load first TX char and TXIE

USCI_AO _ISR:
IF(TxPtr points to EOS) Turn TXIE off
ELSE Output TX char and Increment TxPtr



28
29
30
31
32
33
34
35
36
37
38
39
48
41
42
43
44
45
46
47
48
49
50
51
52
53
54

.'III' .'III'

1
Working & Energia - H Watson 28180731

sketch_RT_ADC3.1ind|

#include

void UARTPutString(const char* strptr); // begin output of s

void UARTSetup (void);

const char® TxPtr ;
char outstr[50]; // buffer to hold output
unsigned char Count;

int main{void)

=

WDTCTL = WDTPW | WDTHOLD;

// Configure GPIO Setup
f/ RED LED

P1DIR |= BITGO;

P1OUT |= BITH;

string

cONO Ol h WN P

9

Stop watchdog timer

Configure GPIO Setup

Disable the GPIO power-on default

Clock System Setup

set BAUD rate

TimerO_A3 Setup: 10/sec

Go to sleep

Timer AO ISR: Sprintf to OutStr
Start string print

USCI_AO0_ISR: If EOS, Turn off TXIE
else, output next char

s/ stop» 10 Load Char & Set TXIE

f/ 5et P1l.0 as output

// P1.0 high

// Disable the GPIO power-on default high-impedance mode to activate

// previously configured port settings
PM5CTLO &= ~LOCKLPMS;



35
36
a7
58
39
60
61
62
63
64
63
66
67
68
69
70
71
2
73
74
75
76
77
78
79
a8
81
a2

2%

Clock System Setup ACLK = 32786, MCLK = SMCLK = 1MHz

__bis SR register(scGe);
CSCTL3 |= SELREF__REFOCLK;
C5CTLG = 0;

CSCTL1 &= ~(DCORSEL_7);
CSCTL1 |= DCORSEL_3;
CSCTL2 = FLLD 1 + 121;
__delay cycles(2);

__bic SR register(sCGo);

while(CSCTL7 & (FLLUNLOCK® | FLLUNLOCKL));

CSCTL4 = SELMS__ DCOCLKDIV | SELA__ XT1CLK;
CSCTL5 |= DIVML;

UARTSetup(); // set BAUD rate

// Timer® A3 Setup ISR 10/second:

// disable FLL

/
/
//
/
/f

I
/f

ff oset
|77 smcLk

Set REFOCLK as FLL reference source
clear DCO and MOD registers

Clear DCO frequency select bits first
Set DCOCLK = 8MHz

= 1, DCODIV = 4MHz

enable FLL
Poll until FLL 1s locked
= XT1 = 32768Hz, DCOCLK as MCLK and SMCLK source

MCLK = DCODIV/2 = 1MHz, by default

TABCCTLE |= CCIE; // TACCRO® 1interrupt enabled
TABEXE |= TAIDEX_3; fFf SMCLE/8/4 = 31250 Hz
TABCCRB = 3125; J/ 10 per second

TABCTL = TASSEL_2 | MC_1 | ID_3;

// go to Standby
__bis SR register(LPMO bits | GIE);

S/ SMCLEK/8

125K , UP mode



83
84
85
86
a7
88
89
9@
91
g2
93
94
95
96

// Timer A@ interrupt service routine
#pragma vector = TIMER® A6 VECTOR
__interrupt void Timer A (void)

=k

P1OUT ~= BITO;
// print ASCII alphabet 10 char/second
if (! (UCABIE & UCTXIE))

i

}

// 1f flag 1s clear, means last

sprintf{OutSstr, "The value of Cou

UARTPutString(Outstr); // begin

string output 1is done
1t 15 %d \n",Count++);
output of string



97

98

99
168
1e1
182
183
le4
185
166
187
168
189
118
111
112
113
114
115
116
117
118
119
128
121
122
123
124
125

#pragma vector=USCI_AG VECTOR
__interrupt wvoid USCI_A® ISR(void)
=1
switch(ucaeIv)
g {
case USCI_NONE: break;
case USCI_UART UCRXIFG:
while(! (UCABIFG&UCTXIFG) ) ;
UCABTXEBUF = UCAQRXBUF;
__no_operation();
break;
case USCI_UART _UCTXIFG:
J/ load char wvalue
// unsigned char testVal=*TxPtr++;
if (1 (*TxPtr)) // 1f zero, then stop
= {

- }
else
=] i
UCABTXBUF = *TxPtr++ ;
- ¥
break;
case USCI_UART_UCSTTIFG: break;
case USCI_UART UCTXCPTIFG: break;
default: break;

UCABIE &= ~UCTXIE; // turn off interrupt



126
127
128
129
138
131
132
133
134
135
136
137
138
139
148
141
142
143
144
145
146
147
148

void UARTSetup (woid)

B{
// Configure UART pins
P1SELS |= BIT4 | BITS; J// set 2-UART pin as second function
// Configure UART
UCABCTLWO |= UCSWRST: // reset UART
UCABCTLWE |= UCSSEL__ SMCLK; J/ use SMCLE input
UCABBRE = 104; Ff 1MHz SMCLE /9600 BAUD
UCABMCTLW = 0xlles; // // remainder of Baud Rate

UCABCTLWE &= ~UCSWRST;

J/UCABIE |= UCRXIE; // Enable USCI_A® RX interrupt

-}

void UARTPutString(const char® strptr) // begin output of string
{
// load TxBuf with first char then enable interrupt
TxPtr = strptr;
UCABTXBUF = *TxPtr++; //load first, assume at least one char in buffer
UCABIE |= UCTXIE; // interrupt when transmitted - ISR turns off when done



RT_ADCA4 - Sprint ADC Values 10/second

SetUp:
GPIO - Enable RED LED
Clock System — MCLK & SMCLK =1 MHz
ADC Setup — 10 Bits, CH1, Interrupt when complete
Timer0 - CCRO set to 10/second
UART Setup — 9600 Baud, No Parity, 1 Stop Bit
Loop: Sleep - Interrupt Enable, Low Power Mode O

TimerO_AO _Interrupt: ADC ISR:
Toggle RED LED / Sprintf OutStr of ADC_Result
Start ADC Conversion UARTPutString — TX whole string

- =

UARTPutString: USCI A0 _ISR:

TxPtr = String Location / IF(TxPtr points to EOS) Turn TXIE off
Load first TX char and TXIE ELSE Output TX char and Increment TxPtr



1 Stop watchdog timer
RT ADC4 2 Configure GPIO Setup
3 Disable the GPIO power-on default

— 4 Clock System Setup
R 5 set BAUD rate
= #include 6 ADC setup: CH1 & ADCIE
37 void UARTPutString(const char* strptr); // begi V4 TimerO_A3 Setup: 10/sec

void etup (void);
i UARTSETUP 8 Go to sleep

const char® TxPtr ; ; . : :
i? chartDutStr[-:!:-—G?-';: // buffer to hold output stra 9 Tlmer AO ISR Begln conversion
2 fint a0C Result; 10 USCI_AO_ISR: If EOS, Turn off TXIE
. else, output next char
i 11 ADC ISR: Sprintf ADC_RESULT UARTPutString
47 | WOTCTL = WOTPW | WDTHOLD; 12 UARTPutString: Load Char & Set TXIE
49 // Configure GPIOD Setup
50 // RED LED
51 P1DIR |= BITH; f/f Set P1l.0 as output
52 P1OUT |= BITO; // PL.0@ high
53
54
55 // Disable the GPIO power-on default high-impedance mode to activate
56 /4 previously configured port settings

57
]

PM5CTLE &= ~LOCKLPMS;




29
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75

T

/f

Clock System Setup ACLK = 32786, MCLK = SMCLK = 1MHz
// disable FLL

__bis SR register(scGe);

CSCTL3 |= SELREF__REFOCLK;

CSCTLO = 0;

CSCTL1 &= ~(DCORSEL_7);

CSCTL1 |= DCORSEL_3;

CSCTL2 = FLLD 1 + 121;

__delay _cycles(3);

__bic SR register(scCGO);

while(CSCTL7 & (FLLUNLOCK® | FLLUNLOCK1});
CSCTL4 = SELMS__ DCOCLKDIV | SELA__ XTICLK;
CSCTL5 |= DIVM1;

UARTSetup(); // set BAUD rate

I/
I
I
I
/f

/f
/f

Set REFOCLK as FLL reference source
clear DCO and MOD registers

Clear DCO freguency select bits first
Set DCOCLK = 8MHz

FLLD = 1, DCODINV = 4MHz

enable FLL
Poll until FLL 1s locked

set ACLK = XT1 = 32768Hz, DCOCLK aﬂ spource

f// SMCLK = MCLK = DCODIV/2 = 1MHz, by default



76
77
78
79
=]
g1
82
83
84
83
86
87
88
29
ag
a1
92
93

95
96
a7
o8
ag
168
161
le2
163
104
185

// add ADC setup /

// Configure ADC1@

ADCCTLE |= ADCSHT_2 | ADCON;
ADCCTLY1 |= ADCSHP;

ADCCTLZ |= ADCRES;

ADCMCTLE |= ADCINCH_1;

ADCIE |= ADCIE®;

// Timer® A3 Setup ISR 10/second:
TABCCTLE |= CCIE;

TABEXR |= TAIDEX_3;

TAGCCRE = 3125;

TABCTL = TASSEL_2 | MC_1 | ID_3;

// go to Standby
__bis SR register(LPMO bits | GIE]};

)

J/ Timer A@ interrupt service routine
#pragma vector = TIMERG A® VECTOR
__interrupt void Timer A (void)

{
P1OUT ~= BITO: /
// begin conversion

ADCCTLO |= ADCENC | ADCSC;

S/ ADCOM, S&H=16 ADC clks

/4 ADCCLK = MODOSC; sampling timer
J/ 18-bit conversion results

// Al ADC 1input select; Vref=AvCC

// Enable ADC conv complete interrupt

// TACCRO® interrupt enabled
S SMCLK/8/4 = 312508 Hz
/4 10 per second
J/ SMCLK/8 = 125K , UP mode

// Sampling and conversion start



10

193
106
187
le8
1e9
118
111
112
113
114
115
116
117
118
119
128
121
122
123
124
125
126
127
128
129
138
131
132
133

#pragma vector=USCI_AG_VECTOR

=F

=

interrupt void USCI_A® ISR(woid)

switch(ucaeIv)
{
case USCI_NONE: break;
case USCI_UART_UCRXIFG:
while(! (UCABIFG&UCTXIFG) ) ;
UCABTXBUF = UCABRXBUF;
__no_operation();
break;
case USCI_UART UCTXIFG:
// load char value
// unsigned char testVal=*TxPtr++;
if (1 (*TxPtr)) // if zero, then stop
{
UCARIE &= ~UCTXIE; // turn off interrupt
}
else
{
UCABTXBUF = *TxPtr++ ;
}
break;
case USCI_UART UCSTTIFG: break;
case USCI_UART UCTXCPTIFG: bhreak;
default: break;



11

P b g

135
136
137
138
139
148
141
142
143
144
145
146
147
148
149
158
151
152
153
154
155

157
158
159
168
161
162
163
164
165
166

L ]

J// ADC interrupt service routine
#pragma vector=ADC_VECTOR
__interrupt woid ADC_ISR(woid)

B{

=

switch(ADCIV)
{
case ADCIV_NONE:
break;
case ADCIV_ADCOVIFG:
break;
case ADCIV_ADCTOVIFG:
break;
case ADCIV_ ADCHIIFG:
break;
case ADCIV_ADCLOIFG:
break:
case ADCIV_ADCINIFG:
break;
case ADCIV_ADCIFG:
ADC_RESUlt = ADCMEM®;

End of Conversion

// last string has to be complete or trouble here - no blocking allowed
worst case, will overwrite part of string being output

/f
|\> sprintf(Qutstr,"sd\n",ADC_Result);

UARTPutString(Outstr); // begin output of string

//__bic_SR_register_on_exit(LPM@_bits);
break:
default:

break;

J/ Clear CPUOFF bit from LPEM@



170
171 void UARTSetup (void)

172 i

173 // Configure UART pins

174 P1SELE |= BIT4 | BITS; // set 2-UART pin as second function
175 // Configure UART

176 UCABCTLWE |= UCSWRST; S/ reset UART

177 UCABCTLWE |= UCSSEL  SMCLEK; ff use SMCLE input

178 UCABERE = 104; SO 1IMHz SMCLE /9680 BAUD

179 UCABMCTLW = 0x11ee; // // remainder of Baud Rate

180 UCABCTLWE &= ~UCSWRST;

181

182 J/UCABIE |= UCRXIE; // Enable USCI_AD Rx interrupt
183 L}

184

185 void UARTPutString(const char* strptr) // begin output of string
186 {

187 // load TxBuf with first char then enable interrupt

188 TxPtr = strptr;

189 UCABTXBUF = *TxPtr++; //load first, assume at least one char in buffer

190 UCABIE |= UCTXIE; // interrupt when transmitted - ISR turns off when done
191 I

192









fdev/ttyACM1

Send
669
G670
670
670
BE9
670
669
670
669
G670
E69
669
670
670
670
670
(s l

3

Iil Autoscroll Both ML & CR ~ | 9600 baud e

0l _TTI &

(X, .
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